MATH 54 FINAL EXAM (PRACTICE 3) PROFESSOR PAULIN



Name and section:

GSI's name: _____

This exam consists of 10 questions. Answer the questions in the spaces provided.

1. (25 points) Find all possible values of a, b, c such that $\begin{pmatrix} 1 \\ -1 \\ 2 \end{pmatrix}$ is a solution to linear system

$$\begin{pmatrix} a+1 & b & 0 & | & c \\ 0 & c & a & 2 \\ a+b & -1 & -c & | & 0 \end{pmatrix}$$

Solution:

 $=) \quad a = 2, \quad b = 1, \quad c = 2$

2. (25 points) Let $T: \mathbb{R}^3 \to \mathbb{R}^4$ be a one-to-one linear transformation such that

$$T(\underline{\mathbf{x}}) = \begin{pmatrix} 1\\2\\3\\-1 \end{pmatrix}, T(\underline{\mathbf{y}}) = \begin{pmatrix} 0\\-1\\4\\-1 \end{pmatrix}, T(\underline{\mathbf{z}}) = \begin{pmatrix} 2\\2\\14\\-4 \end{pmatrix}$$

Is it possible for the vectors $\{\underline{\mathbf{x}}, \underline{\mathbf{y}}, \underline{\mathbf{z}}\}$ to be linearly independent? Is it possible for T to be onto? Justify your answers.

Solution:

1

Obsurve that
$$z \begin{pmatrix} 1 \\ 2 \\ -1 \end{pmatrix} + z \begin{pmatrix} 0 \\ -1 \end{pmatrix} = \begin{pmatrix} 2 \\ 14 \\ -4 \end{pmatrix}$$

$$= \sum_{i=1}^{n} \left(\frac{1}{2} \right)_{i=1}^{n} + 2 \left(\frac{1}{2} \right)_{i=1}^{n} + (-i) \left(\frac{1}{2} \right)_{i=1}^{n} = \left(\frac{0}{6} \right)_{i=1}^{n}$$

$$= \sum_{i=1}^{n} \left(\frac{1}{2} \times + 2 \frac{1}{2} + (-i) \frac{1}{2} \right)_{i=1}^{n} = 0 \quad (T \text{ one-to-one and } T(0) = 0)$$

$$= \sum_{i=1}^{n} \left(\frac{1}{2} \times + 2 \frac{1}{2} + (-i) \frac{1}{2} \right)_{i=1}^{n} = 0 \quad (T \text{ one-to-one and } T(0) = 0)$$

$$= \sum_{i=1}^{n} \left(\frac{1}{2} \times + 2 \frac{1}{2} + (-i) \frac{1}{2} \right)_{i=1}^{n} = 0 \quad (T \text{ one-to-one and } T(0) = 0)$$

$$= \sum_{i=1}^{n} \left(\frac{1}{2} \times + 2 \frac{1}{2} + (-i) \frac{1}{2} \right)_{i=1}^{n} = 0 \quad (T \text{ one-to-one and } T(0) = 0)$$

$$= \sum_{i=1}^{n} \left(\frac{1}{2} \times + 2 \frac{1}{2} + (-i) \frac{1}{2} \right)_{i=1}^{n} = 0 \quad (T \text{ one-to-one and } T(0) = 0)$$

$$= \sum_{i=1}^{n} \left(\frac{1}{2} \times + 2 \frac{1}{2} + (-i) \frac{1}{2} + (-i) \frac{1}{2} \right)_{i=1}^{n} = 0 \quad (T \text{ one-to-one and } T(0) = 0)$$

$$= \sum_{i=1}^{n} \left(\frac{1}{2} \times + 2 \frac{1}{2} + (-i) \frac{1}{2} +$$

3. (25 points) (a) Let V be a vector space. Carefully define what it means for a subset $U \subset V$ to be a subspace. Solution:

UCV is a subspace \dot{T} 1/ Ω_V is constanted in U 2/ $I \neq U, V$ are in U, then $U \neq V$ is in U 3/ $I \neq U$ is in U and λ is in R, then λu is in U 3/ $I \neq U$ is in U and λ is in R, then λu is in U

> (b) Let V be the vector space of continuous real-valued functions on the closed interval [0, 1]. Let U be the subset of V consisting of those functions f such that $f(0) \leq f(1)$. Is U a subspace? Carefully justify your answer. Solution:

It is not a subspace. Conditions 1/ and 2/ are satisfied. However 3/ is not. E.g. 4(x) = x is in U becaus $4(0) = 0 \le 1 = 4(1)$ However (-1) + (x) = -x and $(-1) + (0) = 0 \ge -1 = (-1) + (1)$ 4. (25 points) Let M_2 be the vector space of 2×2 matrices with real entries. Let T be the following linear transformation:

$$\begin{array}{rccc} T: M_2 & \to & M_2 \\ & A & \mapsto & A - A^T \end{array}$$

Find a basis for Ker(T). What is Rank(T)? Solution:

$$\begin{aligned} & \operatorname{Kev}(T) = \left\{ A \text{ in } M_2 \text{ such that } T(A) = \begin{pmatrix} 0 & 0 \\ 0 & 0 \end{pmatrix} \right\} \\ & = \left\{ A \text{ in } M_2 \text{ such that } A - A^T = \begin{pmatrix} 0 & 0 \\ 0 & 0 \end{pmatrix} \right\} \\ & = \left\{ A \text{ in } M_2 \text{ such that } A - A^T = \begin{pmatrix} 0 & 0 \\ 0 & 0 \end{pmatrix} \right\} \\ & = \left\{ A \text{ in } M_2 \text{ such that } A = A^T \right\} \stackrel{\text{constants}}{\underset{\text{matters}}} \end{aligned}$$

=)
$$Kev(T) = \left\{ \begin{pmatrix} a & b \\ b & c \end{pmatrix}, where a, b, c real \right\}$$

$$= \left\{ a \begin{pmatrix} i & 0 \\ 0 & 0 \end{pmatrix} + b \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix} + c \begin{pmatrix} 0 & 0 \\ 0 & 1 \end{pmatrix}, where a, b, c real \right\}$$

$$= Span \left(\left\{ \begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix}, \begin{pmatrix} 0 & 1 \\ 1 & 0 \end{pmatrix}, \begin{pmatrix} 0 & 0 \\ 0 & 1 \end{pmatrix} \right\} \right)$$
Baris to Ker(T)

$$Dim (M_2) = 4 \qquad Rank \qquad Mullity \\ Rank - Nullity = 3 \qquad dum (Range(T)) + dum (Ken(T)) = dum (M_2) \\ = 3 \qquad Rank (T) = 1$$

5. (25 points) Let T be the following linear transformation:

$$T: \mathbb{P}_2(\mathbb{R}) \to \mathbb{P}_3(\mathbb{R})$$
$$p(x) \mapsto p'(x) + p(x)$$

Find bases B and C, for $\mathbb{P}_2(\mathbb{R})$ and $\mathbb{P}_3(\mathbb{R})$ respectively, such that

$$A_{B,C} = \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \\ 0 & 0 & 0 \end{pmatrix}$$

Solution:

Let
$$\beta = \{1, \pi, \pi^2\}$$
, the standard basis For $\mathbb{P}_2(\mathbb{R})$

$$T(1) = 1$$
$$T(x) = 1 + x$$
$$T(x^{2}) = 2x + x^{2}$$

Note that
$$C_1 + c_2(1+x) + c_3(2x+x^2) = 0 =) c_1 = 0, c_2 = 0, c_3 = 0$$

=) $\{1, 1+x, 7x+x^2\}$ L.T.
Extend to a bario by includig x^3
 $(= \{1, 1+x, 7x+x^2, x^3\})$
 $(T(1))_c = {\binom{0}{6}}, (T(x))_c = {\binom{0}{6}}, (T(x^2))_c = {\binom{0}{6}}$
=) $A_{B,c} = {\binom{100}{001}}$

6. (25 points) Let W be the span of the vectors $\begin{pmatrix} 1\\0\\0\\1 \end{pmatrix}$, $\begin{pmatrix} 0\\-2\\0\\1 \end{pmatrix}$ in \mathbb{R}^4 . Find two orthogonal vectors, $\underline{\mathbf{u}}, \underline{\mathbf{v}}$, such $\underline{\mathbf{u}} + \underline{\mathbf{v}} = \begin{pmatrix} 1\\0\\1\\-1 \end{pmatrix}$ and $\underline{\mathbf{u}}$ is in W?

Solution:

7. (25 points) Give a singular-value decomposition of the matrix $% \left(\frac{1}{2} \right) = 0$

$$A = \begin{pmatrix} -1 & 0 & 0\\ 0 & 0 & -2 \end{pmatrix}.$$

Solution:

$$A^{\mathsf{T}}A = \begin{pmatrix} -1 & 0 \\ 0 & 0 \\ 0 & -2 \end{pmatrix} \begin{pmatrix} -1 & 0 & 0 \\ 0 & 0 & -2 \end{pmatrix} = \begin{pmatrix} 1 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 4 \end{pmatrix}$$

Set
$$V_1 = \frac{e_3}{2}$$
, $V_2 = \frac{e_1}{2}$, $\frac{V_3}{-3} = \frac{e_2}{2}$

$$\underline{W}_{1} = \frac{1}{z} \underline{A} \underline{V}_{1} = \frac{1}{z} \begin{pmatrix} -1 & 0 & 0 \\ 0 & 0 & -z \end{pmatrix} \underbrace{e_{3}}_{-3} = \begin{pmatrix} 0 \\ -1 \end{pmatrix}$$

$$u_{2} = \frac{1}{1} A v_{2} = \begin{pmatrix} -1 & 0 & 0 \\ 0 & 0 & -2 \end{pmatrix} e_{1} = \begin{pmatrix} -1 \\ 0 \end{pmatrix}$$

$$=) \qquad \begin{pmatrix} -1 & 0 & 0 \\ 0 & 0 & -z \end{pmatrix} = \begin{pmatrix} 0 & -1 \\ -1 & 0 \end{pmatrix} \begin{pmatrix} z & 0 & 0 \\ 0 & 1 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 1 \\ 1 & 0 & 0 \\ 0 & 1 & 0 \end{pmatrix}$$

Solution (continued) :

8. (25 points) Find a solution to the following initial value problem

$$y'' + 2y' + 2y = e^t \cos(t), \ y(0) = 0, y'(0) = 1$$

Solution:

$$r^{2} + 2r + 2 = 0 \Rightarrow r = \frac{-2 \pm \sqrt{4-8}}{2} = -1 \pm i$$

=) General Solution to = $c_{1}e^{-t}cos(t) + c_{2}e^{-t}sin(t)$
 $y'' + 2y' + 2y$

 $y_p(t) = A_o e^{t} \cos(t) + B_o e^{t} \sin(t)$

-)
$$yp'(t) = A_0 e^{t} cm(t) - A_0 e^{t} sin(t) + B_0 e^{t} sin(t) + B_0 e^{t} cm(t)$$

-) $yp'(t) = A_0 e^{t} cm(t) - A_0 e^{t} sin(t) - A_0 e^{t} sin(t) - A_0 e^{t} cm(t)$

=)
$$y p''(t) = A e^{t} \cos(t)$$

+ $B_{0} e^{t} \sin(t) + B_{0} e^{t} \cos(t) + B_{0} e^{t} \cos(t) - B_{0} e^{t} \sin(t)$
= $2 B_{0} e^{t} \cos(t) - 2 A_{0} e^{t} \sin(t)$

-)
$$y p''(t) + Zy p'(t) + Zy p(t)$$

= $Z B_0 e^{t} \cos(t) - Z A_0 e^{t} \sin(t)$
+ $Z \left(A_0 e^{t} \cos(t) - A_0 e^{t} \sin(t) + B_0 e^{t} \sin(t) + B_0 e^{t} \cos(t) \right)$
+ $Z \left(A_0 e^{t} \cos(t) + B_0 e^{t} \sin(t) \right)$

= $(4A_{o} + 4B_{o})e^{\pm}cos(t) + (-4A_{o} + 4B_{o})e^{\pm}siu(t)$

Solution (continued) :

=)
$$(4A_0 + 4B_0 = 1)$$
 =) $A_0 = B_0 = \frac{1}{8}$
- $(4A_0 + 4B_0 = 0)$

=) General Solution to

$$y'' + zy' + zy = e^{+} cm(t) + c_{1}e^{+} cm(t) + (ze^{-t} sin(t))$$

$$y(0) = \frac{1}{8} + c_{1} = 0$$

$$y'(t) = \frac{1}{8}e^{t}\cos(t) - \frac{1}{8}e^{t}\sin(t) + \frac{1}{8}e^{t}\sin(t) + \frac{1}{8}e^{t}\cos(t)$$

$$- c_{1}e^{-t}\cos(t) - c_{1}e^{-t}\sin(t) - c_{2}e^{-t}\sin(t) + c_{2}e^{-t}\cos(t)$$

$$=) y(0) = \frac{1}{4} - (1 + (2 - 1))$$

=)
$$C_1 = \frac{-1}{8} / C_2 = \frac{5}{8}$$

=)
$$y(t) = \frac{1}{8}e^{t}cas(t) + \frac{1}{8}e^{t}siu(t)$$

+ $(\frac{-1}{8})e^{-t}cm(t) + (\frac{5}{8})e^{-t}siu(t)$

9. (25 points) Find a solution to the initial value problem

$$\underline{x}'(t) = \begin{pmatrix} 1 & -2 \\ 2 & 1 \end{pmatrix} \underline{x}(t), \qquad \underline{x}(0) = \begin{pmatrix} 1 \\ 0 \end{pmatrix}$$

Solution:

 $dot(A - x I_z) = (1 - x)^2 + 4 = 0 = 1 - x = \pm 2i = x = 1 \pm 2i$ $\mathcal{N}_{\mathcal{M}}\left(A-\left(1+2i\right)T_{2}\right)=\mathcal{N}_{\mathcal{M}}\left(\begin{array}{cc}-2i&-2\\2&-2i\end{array}\right)$ $\begin{pmatrix} -2i & -2 \\ 2 & -2i \end{pmatrix} \rightarrow \begin{pmatrix} i & -i \\ 0 & 0 \end{pmatrix} = N M \begin{pmatrix} -2i & -2 \\ 2 & -2i \end{pmatrix} = \left\{ \begin{pmatrix} i x_1 \\ x_2 \end{pmatrix} \right\}$ = Span (i) $\binom{1}{1} = \binom{0}{1} + \frac{1}{2}\binom{1}{2}$ =) General Solution = c, (e cos (2+) (0,) - e sin (2+) (0)) + $c_2 \left(e^{+} sin \left(2t \right) \left(\begin{array}{c} 0 \\ 1 \end{array} \right) + e^{+} cos(2t) \left(\begin{array}{c} 0 \\ 0 \end{array} \right) \right)$ $\underline{\mathcal{A}}(0) = C_1 \left(\begin{pmatrix} 0 \\ 1 \end{pmatrix} \right) + C_2 \left(\begin{pmatrix} 1 \\ 0 \end{pmatrix} \right) = \left(\begin{pmatrix} C_2 \\ C_1 \end{pmatrix} = \left(\begin{pmatrix} 1 \\ 0 \end{pmatrix} \right) = c_1 = 0$ $\Rightarrow \exists (t) = e^{t} \sin(2t) \begin{pmatrix} 0 \\ 1 \end{pmatrix} + e^{t} \cos(2t) \begin{pmatrix} 1 \\ 0 \end{pmatrix}$

10. (25 points) Calculate the Fourier series of the function $f(x) = \begin{cases} 1 & \pi/2 \le x \le \pi \\ 0 & -\pi \le x < \pi/2 \end{cases}$, on the interval $[\pi, \pi]$. What doe the Fourier series converge to at $x = 7\pi/2$? Solution:

$$= \frac{q_{0}}{2} + \sum_{h=1}^{\infty} \left(\frac{q_{h} c_{h} c_{h} (hx) + b_{h} sin(nx)}{1 + b_{h} sin(nx)} \right)$$

$$= \frac{1}{4} + \sum_{h=1}^{\infty} \left(\frac{-1}{hT} sin\left(\frac{hT}{2}\right) (m(hx) + \frac{-1}{nT} [(-1)^{h} - cos(\frac{hT}{2})) sin(nx) \right)$$

